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FACULTY OF COMMERCE
B.A./B.Com./B.Sc. | Semester (3YDC) Examination, August - 2021
Subject : COMMERCE
Course Code No. & Name : BC112BECO - Business Economics

Time : 3 Hours| [Max. Marks : 100
[Min. Marks : 40
SECTION - A
[Marks : 5 * 4 = 20]

Instructions to the candidates :
e fel SFaoes
a)  Answer any five of the following questions in 10 lines each.
B0l TRE D 2 (eI N0 Sl SIRRRe bk
b)  Each question carries 4 marks.
B0 FHD 4 ST,

1) Explain the scope of Economics.
ot o o -

p 5T S0 DIDoTo.
2)  What do you understand by decision making?
gcolonGe s ESHTa T -
-3)  Explain the various kinds of demand.
P AsrobS Ko DG Soik dddodcd. <

4) Whatis Arc elasticity of demand?
b, 35S 5B esrElo?

5) Ex]alain the factors of production.
W &G stsoi DIBOUCT.
6) Explain the changesin supply.
6" 98 Artneds D8oSed. «
7) E'iplain the difference between Money and real costs.
(EBEOTS BArei-TRIE Sjeirets Sbylie oy DoBoSok.
8) ¢ What are the advantages of breakeven analysis?
S56:35 D PATeTol J30oTl. «
9) Explain the shutdown point of a firm.
Hoy ST 3 DoZodrse JNBoDEDw.
10) Explain the penetration pricing policy.
D306 B Ty GO0 g Bodod.
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SECTION - B
[Marks : 5 * 12 = 60]

idates
Instructions 10 the candii

(LL the questions in 30 lines each.

et o b = oo,

e e Rus st
T
. or.
a) Answe

. ey 30 SO5
wdy BRHER A2

p  FEach question carries 12 marks.

S0 BRHW 12 ST
)  Explain the basic concepts generally used in economic theory.
17) a & oSO GIATNHOS eS8 groveso DdoSoc.
e OR | |
ty maximisation and satisfying theories of a firm,

i agerial utili
b) Explainthe manag rscpomros D50 |

Sy (AT MORSOEs Bo0a N e

- - e . n
What is demand? What are the determinants of demana?

I2) a)
‘fb Jdm:é eosTELe Asrobsy Dgonoa T oS DIDOTOE.
OR

b) How are demand forecasting methods of new products different from
established products?
Tes 5590 &irobis eosTSh 5ok, SoEmral HdHo o
Sosstio By HQoS0G.

13) a) What is meant by production function? Explain the concept of production
function by taking single product.
P A58 Posn esrddo? 13 SHPHH 3008 £86T 2T 5Boteds. ‘
OR
b) What is supply? Describe the various Determinants of supply.
5 oBTAN? 530 Dorod DI eoress oS
14) a) Explain and illustrate the law of returns to scale.
BEPHERODS ISR D380 Tr S0 T STDoised.
OR
b) Explain the concept of breakeven analysis and bring out its significance
in decision making.
P A 85535 e 433550 D300D, Wared TN FErSgE: Boved.

15) a) What do you understand by price discrimination? When it is Profitable
and successful? '

58 DSEE OBTE? 68 Jpth DeabSosBn S0y FTUHED eHEod.
OR

b) How is price and output determined under simple Monopoly?
DO DEg0508° LE-sion DG DEoOBLXIT0NT
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SECTION - C
[Marks : 20 < 1 = 20/

Instructions ro the candidates :

e o By 8, Ay = M =
ug,«;;..g‘;....u.J‘m.»‘_.. :

a)  Answer gll the following questions.
B28 wly PEHeD SIMPSe oalbad.

b) Each question carries | mark.

20 % 1 S,

I\-Iultiplc choice questions.

I.
u;‘uﬂ&dh SEhen
/6) Ordinal utility approach was developed by
€038 BATED I SOI B0
a)  Alfred Marshall (sd@& 2096) b) David Ricardo (&2& es0)
¢) Karl Marx (=8 2°6,3) d) JR Hicks (2.e6. 5y
17) Sales maximisation theory was proposed by
SIYSe KoRSSE Dpon FOIBeDIO IIE9
a)  Baumol (r5:d) b) Samuelson (z==5055:55)
c) Williamson (99a05:55) d) Simon (25:5)
18) Which one of the following has inelastic demand?
08 D6° B8 wmE's Axrol Ko,
a)  Fruits (s0&) b) Milk (>e2)
c) Saltasy) d) Vegetables (sromotsen)
19) Which princi'?)le is mainly used in cost-benefit analysis of a long term project?
8505 2rB8e Syah-orgs 2B8HeE’ SBHATRCT gris.
a) Incremental (308300¢8) b) Opportunity cost (e3s°¥ Sgasred)
c) Discounting (&37oelof) d) Compounding (sro2rodoh)
20) When MPP is zero then TPP is
3780 Eros édhd P50 @00 3080 &rod athd
a) Increasing (dtorosood) b) Decreasing (sipeseod)
¢) Constant (3o éotaod) d) Maximum (#Bger &oenod)
21) Incremental economies means
2020068 esmren 5
a) Increasing returns (xvisody 3erew)  b)  Decreasing returns de3od soroo)
c) Constant retumns (R0 yoreo) d) Negative returns (sxeres sovoo)
22) Accounting profits ignore
eFoedoh ergran D DiyOow
b) Explicit costs (aimgs Ssasires)

a) Implicit costs (woss Scitren)

¢) Opportunity cost, (essd sae)  d)  None of the above (‘5:_32) =)

23) When price increases other variables remaining unchanged then breakeven
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quantity.

3BC vored’ SrEnBHon 5 SrEd H0A8, B8535 S0STmN0
a) Increases (xHi08)

b) Decreases (sr58:00)

¢) - Remain unchanged (sstindoos sotod)

d) None of the above (230 =)
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24) In pure monopoly there is

t R ]

a2) No close substitute (<iud Sorgiryal Shppes &)
b) There is a close substitute (32s3 BorEmch S55Hne doeron)
¢) No substitute at all (@orgErmen 553 dosso)

d) None of the above (232 59)

Super markets generally adopt

arnd sroeias S GO0 DT ERROL.

a) Loss leader pricing (Syporai¥ ¢6o Dgrishss)

b) Skimming pricing (282 e Do)

¢) Penetration pricing (2566 §6o Dgrate)

d) Peak load pricing (H036°E 60 Derissa)

25)

II. Match the following :
308 T moBs30d.

A

B
a) ' Fixed cost

26) Income and employment theory
esoralre el N AXToB5 00 Secires
27) Veblen effect b) ﬁ:immum Wages for managenial
IS (ST services
CrEIrNY N 38T

28) Plant and Machinery c¢) Macro economics

roeS 00 aboEres
29) Normal profits d) mn?p: y power
30) Patent rights ¢). Prestigious goods
S30cf Eyes TOS 208 SAspe
III. Fill in the Blanks :
PV Jrooded :
31) How to increase the economic growth is a economic problem.
esBs e 2oTd eHd eIy S530wdg,

32) Measuring elasticity between two prices and two quantities is called
method.
3ot (0w, Bot SBITTTe Mofy T35S Aurol wosTess T8I 5gOR DEP0 BT,
33) Internal economies relate to firm.
e 828 Soeodod3.
J34) Contribution is the excess of sales over .
Solnrss el e ses Sod Joam sotesd.
35) Lowest point of Avc isthe point.
RIE S50l KR DogodHo DoGRD LT,

¥ ¥ K
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